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PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
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1. Briefly describe the liability of the employer to pay compensation for the injury
suffered by a employee, Under the Employee’s Compensation Act,. 1923.
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9. Explain the provisions of the Factories Act, 1948 dealing with the protection of
women and young persons.
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3. Describe in brief the object, applicability and extent of the Payment of Bonus
Act, 1965 and also its main provisions.
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PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
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4,  Explain the powers of the Employees State Insurance Court.
Qgmfleomenit ij&s sruSE BHoennssler gfamyrsmer efeuflésab.

5.  Explain the meaning and concept of social security. ‘
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6. What are the salient features of the Payment of Gratuity Act, 1972?
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"PARTC— (5% 4=20 marks)
Write short notes on FIVE of the »folldwing: | "
Qerameaarappidr gsHne Ap GHLLE awgs.
(a) Restrictions on opening and clgsing of shops. --
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(b) Employees’ Family pension ~scher;1e. |
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(¢ Manufacturing process.
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(D) Set on and sét off ‘
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() Total Disablement
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(® Commercial establishment
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() Powers of the commissioner under the Employees’ Compensation Act
1923. c ’
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PART D — (2 X 6 = 12 marks)

Answer TWO of tll';e -following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.
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Ram, a worker, is asked by his employer to check the leakage of an empty oil

_tanker. Ram after entering the oil tanker lighted the match box to check for.

leakage. The fire caught up and Ram died on the spot. His wife filed a case
against the Employer. Will she succeed in her attempt? Decide and give
reasons. “
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'10.

Govindan is a owner of a Construction Company. He has undertaken to
construct and lay down of railway lines spread over a long distance of 54 kms.
He has appointed several workers for that purpose. A dispute has arisen

_relating to that work between the workers and Govindan, the employer.

Govindan contends that his construction company is not a factory, being it has
no ‘premises’ within the meaning of the Factories Act. Will he succeed in his °
attempt? give reasons. ' o ‘
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Raja; is a worker and his services have been terminated by the employer, Gobi
on the ground of fraud committed by him. He demanded for payment of Bonus.
Gobi, t}ie employer refused to pay Bonus. Will Raja succeed in his attempt?

Give reasons. ‘ .
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